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R R R (1/2)

L~ L2 L~UL3 L~ULA L~UL5 L L6 Wifir PR i
TEXSy T vl B HikE TR bR | REEE | Bk il B
ERS R = 1 1
+T = 1 1
PE¥AT = 1 1
K IR NyJRg IO, 28 m m 133.4 130.0
MR L /N m 34.4 30.0
BRI U /A L=5. Okm m 95.2 100. 0
HE nf 95.2 100. 0
Pek S T X 1 1
AU T = 1 1
WS (FEAT) |B 600 X H 500 AR A 2R m 43.0 43.0
n B 750 X H 500 AR S A /X 2T m 2.0 2.0
" B 750 X H 600 ARIER /S A S 2R m 29.4 29.0
n B 750 X H 700 LS A /32T m 7.0 7.0
" B 750 X H 800 ARIFER /S A 2R m 3.0 3.0
IS (1EAR) B 600 X H 500 TRIER /A /SRR m 4.0 4.0
" B 600 X H 600 ARIFER /S A 2R m 2.0 2.0
n B 750 X H 600 LS A 7S 2T m 2.0 2.0
" B 750 X H 800 ARIER /S A 2R m 1.6 2.0
HIE S (BEME) B 750 X H 500 MRS A /X2 FY m 2.8 3.0
vy Y —hE 600%! HIEM (0. 5m/4%) Ii's 33.0 33.0
" 750T  HLE (0. 5m/B0) A 35.0 35.0
n 7504 HEWrH (0. 6m/#0) Ii'e 1.0 1.0
TV—F U IE 60078 FE (1. om/£0) 3B ANA AL 5.0 5.0
” 7505 BEA (L om/#0) 3feBi ANH 3 3.0 3.0
" 6007 1k (1. 0m/B0) A 2.0 2.0
" 7505 akkA (1. om/KD) ¥ 2.0 2.0
AR AR 6007 A 2.0 2.0
" 75078 #e 2.0 2.0
KA L=1000 W=550 # 97.0 97.0
A Kt 1000%1000%850 2GR 2.0 2.0
JKEEAE 1A T = 1 1
UPRLARIHE 300B m 1.0 1.0
(RN Y 1 1
T AT 7 ML 2y 1 1
i A F/Ef (RC-40) £=450mm ni 51.2 51.0
U AW (RC-40) t=140mm nt 0.5 1.0
- A YIAREA (C-20) £=220mm nf 51.7 52.0
IR iR 72 L nt 51.9 52.0
FJE T @FAFREAs (13) t=40mm nf 107.8 108.0
KET1 ®F/LBHRIEEAs (13F) t=30mm of 138.9 139.0




TR R (2/2)

Ll LAL2 L L3 L L4 LU L L6 o LR it
THK Sy T R 1 s A e | ROk E | e | B
X[ R T K 1 1
X R T X 1 1
X [ R R SMBIKR  TEAIEAN /bR - ERR W=15em m 2.8 3.0
" IR AR - JER W=30em m 2.0 2.0
n WL KA RRE - 0T WSS W-15en#iE m 19.6 20.0
MET = 1 1
AT B T = 1 1
W e 0 2L -l - 0 | SRR 3. 5kmPL T m 14. 4 14.0
U RS 3. 5kmPL m 0.1 0.1
SHAERR TR T X 1 1
INBUASE R T 1)) EH - A5y ETe, t=30mm = 1.0 1.0 32.2nf
AsEHEERR TIMT t=150mmLL T m 213.7 214.0
AsElZERRA A% £=100mmEL ni 173.4 173.0
AsiEtE - 3. 5kmEL T m 12.1 12.0
[IEE 3K 1 1
I @18-8-40, R-40 (H%41) X 1.0 1.0 4. 1nt
Fa KB EIE T = 1.0 1.0
Fa K EElE] T T 2.0 2.0
% T = 1 1
AT =X 1 1
ARFAR A E 1. 5m m 96. 8 97.0
AR T X 1 1
AZIE AN B ASE I E A BB A 34.0 34.0




+ 0z L HES
f® &
g Al b3} | B B =
K iR INRAE m 133.4 13158 + 1.58 + 0.20
#HEL INRAE m 34.4 33.50 + 074 + 005
TR ES INERE L=5.0km | m 95.2 94.26 + 076 + 0.14
i m 95.2




fEELT

KR (LLFEO. 28m3d)

BT I 4R
HRTHE (EAR) AT (LK) pritig
L e B600 B600 B750 B750 B750 B750 B600 B600 B750 B750 B750 &t
H500 H600 H500 H600 H700 H800 H500 H600 H600 H800 H500
£ K | m | @R | 4300 2.00 | 29.40 | 7.00 | 3.00 | 4.00 | 2.00 | 2.00 | 1.60 | 2.80 | 96.80
%r:ﬁl% 11.80 | 13.39 | 13.43 | 15.19 [ 16.95 | 18.71 | 11.80 | 13.39 | 15.19 [ 18.71 9.20
KR
\WIFK0. 26m3| m3 | HE | 60.74 2.69 | 44.66 | 11.87 | 5.61 | 4.72 | 2.68 | 3.04 | 2.99 | 2.58 | 131.58
sty | 290 | 370 | 3.02| 38 | 462 542 | 290 | 370 | 382 | 542 | 3.9
2R L
3 | #E | 12.47 0.60 | 11.23 | 3.23 | 1.63 | 1.16 | 0.74 | 0.76 | 0.87 | 0.90 | 33.59
%r:ﬁl% 8.58 [ 9.28 | 10.07 | 10.95 | 11.82 | 12.69 [ 8.58 | 9.28 | 10.95 | 12.69 | 5.64
Bt
D4t,L=5km | m3 | %% | 36.89 2.01 | 3219 | 827 | 381 | 3.43| 1.86 | 219 | 2.03 | 1.58 | 94.26




fEELT
RiE (lLFEO. 28m3d)

HEHETHEAER
&k
wmoA =-Liv B H 1000 &5t
1000
850
BATEK [E=030 BATEK 2 2
ERME
1BFEY 0.79
73 2
1F50. 28m3| m3 H=E 1.58 1.58
BERME
1B 47 0.37
#RL
m3 HE 0.74 0.74
B ME
1LY 0.38
% +
DAt, L=bkm | m3 e 0.76 0.76




EELT
R#E (ILUFEO. 2 8m3)

ERAHAER
VR
W % |@pz|E B Akt
3008
£ & |m| EE 1.00 1.00
ion 7 1.95
KR
0. 26n3| m3 | @ 0.20 0.20
o7 0.50
2R L
m | % 0.05 0.05
ion 7 1.39
Bt
D4t.L=5kn | n3 | mE 0.14 0.14




B Kk T & & %

i Al 7] % By | % 2 i
fiET =K 1.0 | g + skesmiBeT
HRER (EXE) | B 600 x H 500 m 43.0

" B 750 x H 500 m 2.0
" B 750 x H 600 m 29.4
" B 750 x H 700 m 1.0
" B 750 x H 800 m 3.0
HREE (WEsKED) | B 600 x H 500 m 4.0 2.0 2.0
" B 600 x H 600 m 2.0
" B 750 x H 600 m 2.0
" B 750 x H 800 m 1.6
HREE (HEER) | B 750 x H 500 m 2.8
IV )—rE 600% EEMA (0.5m/40| & 33.0
" 750% EEMA (0.5m/#0)| #& [ 35.0
" 750%  EERA  (0.6m/#0) | K 1.0
JL—F 0% 600% #HER (.0m/4)| #& 5.0
" 7508 HER (1.0m/#)| K 3.0
" 600% ib/KA  (1.0m/40) | #& 2.0
" 750% uFkA (1. 0m/#0) | K 2.0
1E KR 600 # 2.0
7 750% >4 2.0
18 7K 8 L=1000 W=550 {54 97.0 [94.8 + 2.0 =96.8m — 974
£k 1000x1000%850 [E03i 2.0
KEREIRT =® 1.0
URL{EIE 300B m 1.0




E E
o HATH HATH HAE HATH HAE HATH HATHE HATH HREHE HATH | EASHE
(HAR) (HAR) (HAR) (HAR) (HAR) (HAR) [¢12::)) (1% 3::)) [012::)) (1E7K ) (1M )
B600-H500 B600-H600 B750-H500 B750-H600 B750-H700 B750-H800 B600-H500 B600-H600 B750-H600 | B750-H800 | B750-H500
m 10 7.80
\
NoJ +13.10 NoJ +14.10 1.00
NoJ +14.10 NoJ +16.10 — 2.00
NoJ +16.10 No8 +12. 10 16.00 _——
\
No8 +12. 10 No8 +14. 10 2.00
No8 +14.10  ~  No9 +0.10 16.00 \\
No9 +0.10  ~ No9 +14.10 14.00
No.9 +14.10 ~ No.9 +16.10 2.00
No.9 +16.10 ~ No.11 +5.10 29.00
No.11 +6.10 ~ No.11 +7.10 2.00
No. 11 +8.50 ~ No.11 +11.30 2.80
Noll +12.70 ~ No.11 +14.70 2.00
Noll +14.70 ~ No.12 +16.10 21.40
No.12 +16.10 _~ Nol2 +18.10 2.00
No.12 +18.10 ~ No.13 +6.10 8.00
No. 13 +6.10 No. 13 +13. 10 7.00
No. 13 +13. 10 No. 13 +16. 10 3.00
Nol3 +16.10 No.13 +17.70 1.60
43.00 - 2.00 2940 7.00 3.00 2.00 2.00 2.00 1.60 2.80
94.80




A
i aAvyy—rE avyY—rE JL—FUT& JL—FUTE JL—FUUE JL—FUTE JL—FUTE
A = (L=0. 5m) (L=0. 5m) (L=1. Om) (L=1. Om) (L=1. Om) (L=1. Om) (L=0. 6m)
it A (0 6008 HE A () 7508 #E D () 6008 HEO (3) 7508 1E7K A (%) 6008 17K () 7508 T (450 7508
m‘-\w +13.10 4.00 2.00
No7 +13.10 ~  NoJ +14.10 \wo
No7 +14.10 ~  NoJ +16.10 \ 1.00
No7 +16.10 ~  No8 +12.10 10. 00 3.00
No8 +12.10 ~  No8 +14.10 1.00
No8 +14.10 ~  No9 +0.10 14. 00 2.00 \
No9 +0.10  ~  No9 +14.10 10. 00 2.00
No.9 +14.10 ~ No.9 +16.10 1.00
No.9 +16.10 ~ No.11 +5.10 23.00 3.00
No.11 +5.10 ~ No.11 +7.10 1.00
No.11 +8.50 ~ No.11 +11.30 1.00
Noll +12.70 ~ No.12 +16.10 19. 00 2.00
No.12 +16.10 _~ No12 +18.10 1.00
No.12 +18.10 _~ No.13 +6.10 6. 00 1.00
No.13 +6.10 ~ No.13 +13.10 7.00
No.13 +13.10 _~ No.13 +16.10 3.00
No13 +16.10 ~ No.13 +17.70 1.00
g 33.00 35.00 5.00 3.00 2.00 2.00 1.00




)= A3 =
. UB! B HREE | sL—FroE
p:l =1 ﬁ&%
(LE7KEY) (L=1. Om) H
300B B600-H500 1E5K A3 () 600
No.11 + 7.10 2.00 1.00  |5L—F>53B80tnEER
No.11 + 11.30 1.00
it 1.00 2.00 1.00
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1 il o) % BT | # = iH &
TARAIT7IVNEHET X 1.0
T B BARE (RC-40) t=450mm m 51.2
T B BARE (RC-40) t=140mm m 0.5
L ERRE Y5A8A (6-20) t=220mm m 51.7
TREZIE HEMGL m 51.9
RETD QBEAZHIEAs (13) t=40mm m 107.8
RETI OB A ZHEAs (13F) t=30mm m 138.9




& T3 I 3 8 i EE
TR - ] : N W=
FRAI7ILNEEZET
WNERS:
BAEARC-40) JHIREE600, 750! | £/KMOKREIRED)
1=450mm A=( 920+ 14 + 28 + 28
+ 14 + 20 ) x 05 51.2 i
WNERS:
BAEARC-40)
t=140mm A= 10 x 05 05 m
LB
Y328 H(C-20)
+=220mm A= 512 + 05 51.7 ot
FRERIE
HWREMEL HAREE600E!, 7508 + tEMRfhEEmELY
A= 920 x 05 + 59 51.9 ni
xETIO
QB EZHEAS13) SHIRE 6008, 7508 + HEM{HAEELY
t=40mm A= 920 x 10 + 158 107.8 ni
RETI
GOBELEZHEAS13F)| EREE600E, 7508 + HEE{TEEELY
t=30mm A= 920 x 13 + 193 138.9 ni
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SMALER RFIRIA (VPR - EER W=15cm

2.8

ik mmEst - B W=30cm

2.0

—BFE KE -5 - XF A W=15cniF
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X [ET] o I 3 8 i EE
TR - ] : S &
XE#FET
XEREE
AN IE EEEKY
BHIBAAE - FR W=15em|L = 28 m
XERRE
(ZILER EEEKY
ARt -EH W=30cm|L = 20 m
XERRE
—BEl RE-EE-xF| FERKY
ARt W=15cmiE | L = 19.6 m




MT £5R
i Al i) 1% Bl & =2 ]
BEYEET 2 1.0
WENE Y DU B - 0 BEEEY m 14.4
AN Y DU B - 0 EIHEEY m 0.1
SR IREUERT 2 1.0
NRIERECIAE] | B - S EL, t=30mm | H 1.0 32.2m
As £ %= hiz 7] Bfe t=150mmiL T m | 213.7
As 5525 hiR B T t=100mmLA m | 173.4
Asz%:EHk - WE DIDF L=3.5kmLLF m 12.1
T = 1.0
fEE T @18-8-40, R-40 (3R#&5) [ = 1.0 4.1m
HAKEYET X 1.0
HAKEYET T 2.0




# IBEHEE

i - A

gl

BEYERIRT

BEmEY ThL &k

SEEEY

ZEEAIE 240% 0.1m
V = 010 x 920 = 92 m

W= 92 x 25 t/m = 230 t

BB 4EME;E B300 x H800 760kg/2m
W = 7600 x 20 = 1000 = 15 t

3

V = 15 = 25 t/m= 06 m

ZE=@IEZ 350x500 40kg/#K
W = 400 x 1020 = 1000 = 41 t

3

V = 41 = 25 t/m= 16 m

BHRSEEES 400x500 42kg/H
W= 420 x 20 = 1000 = 01 t

V = 01 = 25 t/m = 004 m

JHIREE600E/H500 701kg/{R
W= 7010 x 10 = 1000 = 07 t

3

V = 07 = 25 t/m= 03 m

JHIME#E7508H500 1205kg/ 1@
W = 12050 x 10 =+ 1000 = 1.2 t

V = 12 = 25 t/m= 05 m




# INEHEE

FEI] - A S -V i

il

BEE% & /K #11000 X 1000 X 850 1.1m/{&
V= 11 x 20 = 22 m

W= 22 x 25 t/m = 55 t

2V = 92 + 06 + 16 + 004 + 03

+ 05 + 22 = 144 i

W= 230+ 15 + 41 + 01 + 07

+ 12 + 55 = 361 t
WiEmLYThL- Bl 05
BEEEY BiGT AR
V.= 014 x 10 = 0.1 ni
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00¢€1

ZIoH




H I EHEE
R - ] = EHES &
SHERREVET
INRE R EYIE]
Eifg- &L, t=30mm
N = 1X IEE=D) = 1.0 2
A= 03 x 920 = 276 m
R s LY
A= 08 x 25 - 05 x 196 = 11 m
MR amE LY
A= 35 m
A = 276 + 11 + 35 = 322 m
V = 322 x 003 = 10 m
W= 10 x 235 t/m = 23 t
AsEHEE IR U B
t=150mmL T 1Y
L = 1056
2R Y
L = 108.1
YL = 1056 + 108.1 = 213.7 m
AsEHE R AT
t=100mmLL T HIREBT508!
A = 450 x 180 = 810 mi
JHIRE B600E!
A = 470 x 163 = 766 m
FERTER 2 A
A= 158 m




H I EHEE
R - ] = EHES T R
AsEHE R RE
t=100mmLLF
A = 810 + 766 + 158 = 173.4 i
AsTEHR - =
DIDEH L=35kmLlTF
V = 1734 x 007 = 121 121 m
W = 121 x 235t/m = 284 t
ML
1.0 =
mEEa>9)—k
218-8-40
t=150mm V = 920 x 03 x 015 = 41 m
HERA
R-40(}R#&41)
t=100mm A = 920 x 03 = 276 m
HAKEYET
EREDE 2.0 f5AT
PPEE
$20 15&
L = 20 m
PPING
¢ 20 % 90°
N = 40 @&
SREk B BMETRI &S BERRRR LY Tub
»20 PP XxPP,VP,SGP
N = 20 {&
TSYryb
20
N = 20 {&
MCa1z#Y
20
N = 10 {@&
H)IFL ERMAT
FEUNE20
L = 20 m
FVIFLVE#MFET
FEUME20
L = 100 [@
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EEIEEEZLE TSH#FT

REUME20(20 HLY)

2.0

#

BEEIREE LV E kT

FEUE20

2.0

#R/KEmEVERK
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ARIRET
AEIR EikEK1. 5m m 96. 8




AR R HE KO E

EEURES E R ARRME: (m)
4 AE Al & ([

(m) (m) H=1. 5m H=1. 8m
M S 600 | A H500 0.875 43.0 43.0
H600 0.975 0.0
TP #7507 H500 0. 890 2.0 2.0
H600 0. 990 29. 4 29. 4
H700 1. 090 7.0 7.0
H800 1.190 3.0 3.0
W E#6008 |1k KA H500 0. 875 4.0 4.0
H600 0.975 2.0 2.0
TP #7507 H600 0. 990 2.0 2.0
H800 1.190 1.6 1.6
IR B 7507 Bk H500 0. 990 2.8 2.8

o i 96. 8 0.0




B R R E IR S (GEA - 1Ek)  B600-H500 10 m34 Y
S BY
1590 BIOEEEE  t= 70 mm
BRI - V% 2515 24078
300 790 500
. A HLEAs (13F) | 30
150 e @R RIS (1) | 40
AR AR
100 1 4110 90 150
BN
RC-40 450
875
425 A4+
A+
HETE 1@ 20
100 EER ENVIEN®)
100 A A GRS 40mmEL T)
| 840
FiE R X 5 B = I =%
+T
PRI
BERRMSE 0.1 i ( 1.59 x (0.875 —0.07 ) — 0.1 ) X 10.0 11.80 m3
MEREL
(&A1) ( 0.50 X 0.205 4 0.30 X 0.625 ) X 10.0 2.90 m3
#+
11.80 — 2.90 / 0.9 8.58 m3
BN
£=100mm [l 0.840 X 10.0 8.40 m2
NG 0.840 X 10.0 X 0.100 0.84 m3
LR P
0.100 X 2 X 10.0 2.00 m2
Hig=a o 7 ) — k
t= 100 mm [l 0.840 X 10.0 8.40 m2
NG 0.840 X 10.0 X 0.100 0.84 m3
o W= 708 kg/2.00m
10.00 <+ 2.000 5.0 &
ET
Bl E
TR 7 Y — R
NG 0.600 X 0.100 X 10.0 0.6 m3
a7 ) — ki
0.84 + 0.60 1. 44 m3




B R R E RS (GEA - 1E/k)  B600-H600 10 m34 Y
S X|
1590 BIOEEEE t= 70 mm
BRI - V% 2515 24078
300 790 500
. A HLEAs (13F) | 30
150 e @R RIS (1) | 40
AR ARG
100 1 4110 90 150
HAA
RC-40 450
] 975
525 »4E+
#AEA+
) -1@ 305
100 EER =MV
100 A A GRS 40mmEL T)
| 840
FiE R X 5 B = * =
+T
PRI
BEREMES 0.1 nd ( 1.59 x (0975 —0.07 ) — 0.1 ) x 10.0 13.39 m3
MEREL
(&A1) ( 0.50 x 0.305 4 0.30 X 0.725 ) X 10.0 3.70 m3
#+
13.39 — 3.70 / 0.9 9.28 m3
HAA
£=100mm [l 0.840 X 10.0 8.40 m2
N 0.840 X 10.0 X 0.100 0.84 m3
FEREAR R
0.100 X 2 X 10.0 2.00 m2
Hig=a o 7 ) — k
t= 100 mm [l 0.840 X 10.0 8.40 m2
N 0.840 X 10.0 X 0.100 0.84 m3
o W= 773 kg/2.00m
10.00 + 2.000 5.0 &
ET
BlEEr B
AERE D 7 ) — k
N 0.600 X 0.100 X 10.0 0.6 m3
a7 ) — ki
0.84 + 0.60 1. 44 m3




B R R E HIR S GEARR) B750-H500 10 m34 Y
S B4
1760 BIOEEEE t= 70 mm
BRI - V% 2515 24078
300 960 500
‘ G FFEEHIEAs (13F) | 30
150 e | (om0 40
AR ARG
100 1 4110 90 150
BN
RC-40 450
] 890
440 »4E+
A+
) -1@ 220
100 LR ) -2
100 A A GRS 40mmEL T)
| 1020 |
FiE R X 5 B = H =
+T
PRI
BEREMES 0.1 nd (1.76 x (080 —0.07 ) — 0.1 ) x 10.0 13.43 m3
MEREL
(&A1) ( 0.50 x 0.220 4 0.30 X 0.640 ) X 10.0 3.02 m3
#+
13.43 — 3.02 / 0.9 10.07 m3
BN
£=100mm [l 1.020 X 10.0 10.20 m2
NG 1.020 X 10.0 X 0.100 1.02 m3
LR P
0.100 X 2 X 10.0 2.00 m2
Hig=a o 7 ) — k
t= 100 mm [l 1.020 X 10.0 10.20 m2
NG 1.020 X 10.0 X 0.100 1.02 m3
o W= 935 kg/2.00m
10.00 <+ 2.000 5.0 &
ET
Bl E
TR 7 Y — R
NG 0.750 X 0.100 X 10.0 0. 75 m3
a7 ) — ki
.02 + 0.75 1. 77 m3




B R R E MRS (GEA - 1k/k)  B750-H600 10 m34 Y
S B4
1760 BIOEEEE  t= 70 mm
BRI - V% 2515 24078
300 960 500
‘ G FFEEHIEAs (13F) | 30
150 e | (om0 40
AR ARG
100 1 4110 90 150
HAA
RC-40 450
] 990
540 »4E+
FAEA+
) -1@ 320
100 LR ) -2
100 A A GRS 40mmEL T)
| 1020 |
FiE R X 5 B = * =
+T
PRI
BEREMES 0.1 nd (1.76 x (0990 —0.07 ) — 0.1 ) x 10.0 15.19 m3
MEREL
(&A1) ( 0.50 X 0.320 4+ 0.30 X 0.740 ) X 10.0 3.82 m3
#+
15.19 — 3.82 / 0.9 10.95 m3
HAA
£=100mm [l 1.020 X 10.0 10.20 m2
NG 1.020 X 10.0 X 0.100 1.02 m3
FEREAR R
0.100 X 2 X 10.0 2.00 m2
Hig=a o 7 ) — k
t= 100 mm [l 1.020 X 10.0 10.20 m2
NG 1.020 X 10.0 X 0.100 1.02 m3
o W= 1,013 kg/2.00m
10.00 = 2.000 5.0
ET
BlEEr B
AERE D 7 ) — k
NG 0.750 X 0.100 X 10.0 0. 75 m3
a7 ) — ki
.02 + 0.75 1. 77 m3




B R R E HIR S GEARR) B750-H700 10 m34 Y
S B4
1760 BIOEEEE t= 70 mm
BRI - V% 2515 24078
300 960 500
‘ G FFEEHIEAs (13F) | 30
150 e | (om0 40
AR ARG
100 1 4110 90 150
HAA
RC-40 450
] 1090
640 »4E+
A+
) -1@ 420
100 LR ) -2
100 A A GRS 40mmEL T)
| 1020 |
FiE R X 5 B = I =%
+T
PRI
BEREMES 0.1 nd (1.76 x ( 1.090 — 0.07 ) — 0.1 ) x 10.0 16.95 m3
MEREL
(&A1) ( 0.50 X 0.420 4 0.30 X 0.840 ) X 10.0 4.62 m3
#+
16.95 — 4.62 / 0.9 11.82 m3
HAA
£=100mm [l 1.020 X 10.0 10.20 m2
NG 1.020 X 10.0 X 0.100 1.02 m3
FEREAR R
0.100 X 2 X 10.0 2.00 m2
Hig=a o 7 ) — k
t= 100 mm [l 1.020 X 10.0 10.20 m2
NG 1.020 X 10.0 X 0.100 1.02 m3
L R W= 1,091 kg/2.00m
10.00 <+ 2.000 5.0 &
ET
BlEEr B
AERE D 7 ) — k
NG 0.750 X 0.100 X 10.0 0. 75 m3
a7 ) — ki
.02 + 0.75 1. 77 m3




B R R E RS (GEA - 1k/k)  B750-H800 10 m34 Y
S B4
1760 BIOEEEE t= 70 mm
BRI - V% 2515 24078
300 960 500
‘ G FFEEHIEAs (13F) | 30
150 e | (om0 40
AR ARG
100 1 4110 90 150
HAA
RC-40 450
] 1190
740 »4E+
#AEA+
) -1@ 520
100 R ) -2
100 A A GRS 40mmEL T)
| 1020 |
FiE R X 5 B = * =
+T
PRI
BEREMES 0.1 nd (1.76 x (1.190 — 0.07 ) — 0.1 ) Xx 10.0 18.71 m3
MEREL
(&A1) ( 0.50 X 0.520 4 0.30 X 0.940 ) X 10.0 5.42 m3
#+
18.71 — 5.42 / 0.9 12.69 m3
HAA
£=100mm [l 1.020 X 10.0 10.20 m2
NG 1.020 X 10.0 X 0.100 1.02 m3
FEREAR R
0.100 X 2 X 10.0 2.00 m2
Hig=a o 7 ) — k
t= 100 mm [l 1.020 X 10.0 10.20 m2
NG 1.020 X 10.0 X 0.100 1.02 m3
L R W= 1,169 kg/2.00m
10.00 = 2.000 5.0 &
ET
BlEEr B
AERE D 7 ) — k
NG 0.750 X 0.100 X 10.0 0. 75 m3
a7 ) — ki
.02 + 0.75 1. 77 m3




B R R E HIE S () B750-H500 10 m34 Y
S x|
2010
500 1010 500
30 | O LB R % As (13F) |
40 | @k As (13) @A ERLEAs (13)
. . 220
150 YA BhAREE
C-20 C-20
990
450 AR HAMNE 450
RC-40 RC-40
REL L)) -b O 20
320 A+ A EVIENG) A4+ 150
HARA GRFE40mmLL T) 150
| 1090 | BIAEE t= 70 mm
BE B AT < 1 37 51750500
FiE R X 5 B = * =
+T
IR
(0.99 - 0.07 ) X 0.5 X 2.0 x 10.0 9.20 m3
HEREL
(&A1) ( 0.50 X 0.320 + 0.50 X 0.320 ) X 10.0 3.20 m3
%+
9.20 — 3.20 / 0.9 5.64 m3
A
£=150mm L 1.090 X 10.0 10.90 m2
N 1.090 X 10.0 X 0.150 1.64 m3
FEREAR R
0.150 X 2 X 10.0 3.00 m2
Hig=a o 7 ) — k
t= 150 mm s 1.090 X 10.0 10.90 m2
N 1.090 X 10.0 X 0.150 1.64 m3
L R W= 1,205 kg/2.00m
10.00 = 2.000 5.0 {#
ET
BlEEr B
AERE D 7 ) — k
N 0.750 X 0.100 X 10.0 0. 75 m3
a7 ) — ki
1.64 + 0.75 2.39 m3




B EitEE Ak 1000%1000%850 1 B4 Y

S X]
1900 BIOEEEE t= 70 mm
BES%AE /K Bt 1000%1000%850
200 1000 200 500
G FFEEHIEAs (13F) | 30
@R AEEERS (19)| 40
AR
C-20 150
850 o
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RC-40
] 1200
— A+
150 530
200 ARG (HREA40mmLL T)
| 1500 |
FiE R X 5 A = * =
+T
PRI
0.5 x ( 1.20 — 0.07 ) x 1.4 0.79 m3
MEREL
FE4ET1) 0.50 X 0.53 X 1.40 0.37 m3
#+
0.79 — 0.37 / 0.9 0.38 m3
BN
£=100mm [k 1.5 X 1.5 2.25 m2
NG 1.5 X 1.5 X 0.20 0.45 m3
ET
BER D T L —F L 7 # e d
Hll e
1.4 X 1.00 X 4 + 1.0 X 0.85 X 4 9.0 m2
a7 J—k
©218-8-40 1.4 X 1.4 X 1.00- 1.0 X 1.0 X 0.85 1.1 m3




B R R E URUAR T 300B 10 m34 Y
S
930
430 500
30 [ ] O E#RLEAs (13F) ]
40 @ Fi/EFRLEAs (13) ]
220
150 YA
C-20
460
ARG
140 RC10 140
100 HARA (BREA4omd T) | B4+ 100
| 500 | HHEE t= 70 m
BERR AT  BLG TS
FiE R X 5 B = I =%
+T
PRI
0.5 X ( 0.46 - 0.07 ) X 10.0 1.95 m3
MEREL
(A1) 0.50 X 0.10 X 10.0 0.50 m3
#+
.95 — 0.50 / 0.9 1.39 m3
HAA
£=100mm [HifE 0.500 X 10.0 5.00 m2
NG 0.500 X 10.0 X 0.100 0.50 m3
L S W= 235 kg/1.00m
10.00 <+ 1.000 10.0 {@&




